

2025-2026 CANVASBACK GUN CLUB DRAW REPORT

LEGEND

NB: No blind

WB: Wood blind

OGT: Overgrown with Tules

Water: Wet-low; boats?

Water: Wet-medium; boats should be ok

Water: Wet-full; boats ok

10/08/2025							
<u>DRAW LIST</u>	<u>UNIT</u>	<u>SIZE & TYPE</u>	<u>LATITUDE</u>	<u>LONGITUDE</u>	<u>COVER/CONDITION</u>	<u>WATER</u>	<u>COMMENT</u>
Allen	1	2-Tank	39.56620	-118.53829	Good	Wet-low	
Bailey Field #1 (South)	1	2-Tank	39.557772	-118.547661	Good	Wet-full	
Bailey Field #2 (North)	1	2-Tank	39.559969	-118.545262	Good	Wet-full	
Baker #1	6	NB	39.594752	-118.496908	Fair	Wet-full	
Baker #2	6	2-Tank	39.59617	-118.48995	Good	Wet-full	
Baker #3	6	2-Tank	39.59822	-118.48522	Good	Wet-full	OGT
Big Arthur #1	5	3-WB	39.58237	-118.49879	Good	Wet-low	
Big Arthur #1A	5	2-Tank	39.58068	-118.49895	Good	Dry	
Boney	6	NB	39.59559	-118.50513		Wet-low	
Bonnenfant	5	NB	39.57407	-118.4993		Wet	
Bowden	6	2-Tank	39.598511	-118.502174	Fair	Dry	
Bowen	6	NB	39.60172	-118.48896		Wet-low	
Brown	2	NB	39.55696	-118.52225		Dry	
Bull Durham	3	NB	39.57198	-118.52008		Wet-low	
Bunker	3	2-Tank	39.58896	-118.53118	Poor	Dry	
Cairns	6	NB	39.60485	-118.50571		Wet-full	
Campbell	2	NB	39.56713	-118.51541		Wet-low	
Cardinal	6	NB	39.59348	-118.50189		Wet-full	Use new landing
Carrington Field	5	3-Tank	39.57007	-118.49792	Poor	Muddy	Green goose field
Carrington Pond	5	NB	39.56948	-118.50175		Wet	
Crain	1	2-Tank	39.57335	-118.54069	Good	Wet-full	
Crew	3	2-Tank	39.58912	-118.52715	Fair	Dry	
Dixon	2	NB	39.55941	-118.5353		Wet-full	
Dorothy's Pond	2	NB	39.55638	-118.53625		Wet-low	

2025-2026 CANVASBACK GUN CLUB DRAW REPORT

LEGEND

NB: No blind

WB: Wood blind

OGT: Overgrown with Tules

Water: Wet-low; boats?

Water: Wet-medium; boats should be ok

Water: Wet-full; boats ok

<u>DRAW LIST</u>	<u>UNIT</u>	<u>SIZE & TYPE</u>	<u>LATITUDE</u>	<u>LONGITUDE</u>	<u>COVER/ CONDITION</u>	<u>WATER</u>	<u>COMMENT</u>
Dutch Bill #05	3	NB	39.59113	-118.53467		Wet-full	
Dutch Bill #05A	3	NB	39.590297	-118.536456		Wet-full	
Dutch Bill #07	3	NB	39.59246	-118.531227		Wet-full	
Dutch Bill #08	3	NB	39.59351	-118.52367		Wet-full	
Dutch Bill #10	3	NB	39.592861	-118.527299		Wet-full	
Dutch Bill #14	3	NB	39.58788	-118.54131		Wet-full	
Dutch Bill #15	3	NB	39.58592	-118.53695		Wet-full	
Dutch Bill #17	3	NB	39.584101	-118.534975		Wet-full	
Elmore Field	6	2-Tank	39.600517	-118.518275	Poor	Dry	
Euse Marsh	3	2-Tank	39.59449	-118.51808	Good	Dry	
Flyge	1	NB	39.56298	-118.53969		Wet-low	
Frazer	3	1-Tank	39.5765	-118.546604	Poor	Dry	
Freeman #06	2	NB	39.5701	-118.52374		Wet-med	
Freeman #07	2	3-WB	39.56882	-118.528657	Excellent	Wet-med	
Freeman #09	2	4-WB Boat Hide	39.567024	-118.526765	Excellent	Wet-med	
Freeman #12	2	3-WB	39.56806	-118.523056	Good	Wet-med	
Gashoe #1	3	2-Tank	39.574848	-118.519871	Good	Wet-full	
Gashoe #2	3	2-Tank	39.576917	-118.521487	Good	Wet-full	
Gashoe #2A	3	2-Tank	39.578859	-118.522876	Good	Wet-full	Remove sign
Golick	1	2-Tank	39.573626	-118.549413	Good	Dry	
Goodnight Field	5	2-Tank	39.584894	-118.489826	Fair	Dry	Green goose field
Harker	3	2-Tank	39.578904	-118.541644	Good	Dry	
Heward #1A	1	3-Tank	39.57032	-118.5428	Bare	Dry	
Heward Pond	1	2-Tank	39.57009	-118.54315	Bare	Dry	
Hicks Field	1	3-Tank	39.56451	-118.54506	Fair	Dry	
Holcomb	6	NB	39.600282	-118.506067		Dry	
Johns Pond	1	2-Tank	39.57151	-118.54774	Fair	Wet-low	
Johnson	4	3-WB	39.583178	-118.495767	Fair	Wet-low	
Kernan #1A	4	2-Tank	39.58669	-118.49824	Good	Dry	

2025-2026 CANVASBACK GUN CLUB DRAW REPORT

LEGEND

NB: No blind

WB: Wood blind

OGT: Overgrown with Tules

Water: Wet-low; boats?

Water: Wet-medium; boats should be ok

Water: Wet-full; boats ok

<u>DRAW LIST</u>	<u>UNIT</u>	<u>SIZE & TYPE</u>	<u>LATITUDE</u>	<u>LONGITUDE</u>	<u>COVER/ CONDITION</u>	<u>WATER</u>	<u>COMMENT</u>
Kernan Pond	4	2-WB	39.58773	-118.5004	Good	Wet-low	
Kirkley #1	2	3-WB	39.56043	-118.523865	Excellent	Wet-full	
Kirkley #2	2	3-WB	39.561571	-118.525242	Excellent	Wet-full	
Kirkley #3	2	4-WB Boat Hide	39.559275	-118.525981	Excellent	Wet-full	
Kruger	4	2-Tank	39.58986	-118.49740	Good	Wet-low	
Langhans #1	3	2-Tank	39.5761	-118.52810	Good	Wet-low	
Langhans #2 (north)	3	2-Tank	39.58184	-118.52856	Good	Dry	
Langhans #2A (south)	3	2-Tank	39.5813	-118.52898	Good	Wet-med	
Langhans #3	3	2-Tank	39.57631	-118.53260	Fair	Wet-low	
Langhans #3A	3	2-Tank	39.57535	-118.53388	Poor	Wet-low	
Lee	2	NB	39.55648	-118.52475		Wet-full	
Little Arthur	5	3-WB	39.58189	-118.501206	Fair	Wet-low	
Little Dutch Bill #1 (closest to Euse)	3	NB	39.59706	-118.51946		Wet-low	
Little Dutch Bill #2	3	NB	39.5982	-118.52299		Wet-low	
Little Freeman #1 (east)	2	3-WB	39.564394	-118.52164	Excellent	Wet-full	
Little Freeman #2 (west)	2	3-WB	39.563963	-118.524545	Excellent	Wet-full	
Little Mallard #1	4	NB				Wet-full	
Little Mallard #2	4	NB				Wet-full	

2025-2026 CANVASBACK GUN CLUB DRAW REPORT

LEGEND

NB: No blind

WB: Wood blind

OGT: Overgrown with Tules

Water: Wet-low; boats?

Water: Wet-medium; boats should be ok

Water: Wet-full; boats ok

<u>DRAW LIST</u>	<u>UNIT</u>	<u>SIZE & TYPE</u>	<u>LATITUDE</u>	<u>LONGITUDE</u>	<u>COVER/ CONDITION</u>	<u>WATER</u>	<u>COMMENT</u>
Little Mallard #3	4	NB				Wet-full	
Lund #1	2	2-Tank	39.563494	-118.532624	Fair	Dry	
Lund #1A	2	2-Tank	39.56387	-118.53385	Fair	Dry	
Lund #2	2	2-Tank	39.561627	-118.529528	Fair	Dry	
Mabsen	2	NB	39.56144	-118.51809		Dry	
Mallard #2	4	NB				Wet-full	
Mallard #5	4	NB				Wet-full	
Mallard #6	4	NB				Wet-full	
Mallard #8	4	NB				Wet-full	
Mallard #11	4	NB				Wet-full	
Mathisen #1	4	NB	39.58672	-118.51576		Wet-full	
Mathisen #2	4	NB	39.586594	-118.520243		Wet-full	
Mathisen #3	4	NB	39.58407	-118.51911		Wet-full	
Maureen's #1	7						
Maureen's #2	7						
Maureen's #4	7						
Maureen's #5	7	3-Tank					
Maureen's #5A	7	2-Tank					
Maureen's #6	7						
Maureen's #7	7						
Maureen's #8	7						
Maureen's #9	7	3-Tank					
Maureen's #10	7						
Milabar #1	5	NB	39.5898	-118.492433		Dry	
Milabar #2	5	2-Tank	39.59107	-118.48942	Good	Dry	
Milabar #3	5	2-Tank	39.59222	-118.48507	Good	Dry	
Milts	5	2-Tank	39.57864	-118.50614	Fair	Wet-low	
Minnie	5	NB	39.57714	-118.49896		Dry	
Moriano	4	NB	39.58091	-118.51405		Wet-full	
Mort	2	2-Tank	39.565466	-118.529304	Fair	Wet-low	
Mustang	6	NB	39.6026	-118.49349		Wet-full	

2025-2026 CANVASBACK GUN CLUB DRAW REPORT

LEGEND

NB: No blind

WB: Wood blind

OGT: Overgrown with Tules

Water: Wet-low; boats?

Water: Wet-medium; boats should be ok

Water: Wet-full; boats ok

<u>DRAW LIST</u>	<u>UNIT</u>	<u>SIZE & TYPE</u>	<u>LATITUDE</u>	<u>LONGITUDE</u>	<u>COVER/ CONDITION</u>	<u>WATER</u>	<u>COMMENT</u>
Oliver	5	2-Tank	39.57738	-118.49639	Fair	Wet-full	
Pappy	6	NB	39.6055	-118.48445		Dry	
Petty	3	1-Tank	39.5729	-118.523502	Good	Wet-full	
Petty #1A	3	2-Tank	39.57357	-118.52268	Good	Wet-full	
Powell	3	2-Tank	39.58588	-118.53174	Good	Dry	
Sans #1	6	3-WB	39.60086	-118.51013	Poor	Wet-full	
Sans #2	6	NB	39.6043	-118.50812		Wet-full	
Sans #3	6	Wood	39.60397	-118.51171	Not usable	Wet-full	
Savage	6	NB	39.60472	-118.52169		Wet-low	
Sbragia #2	1	NB	39.56396	-118.54739		Wet-low	
Sbragia #2A	1	NB	39.56112	-118.54852		Dry	
Sbragia #3 (South)	1	2-Tank	39.566958	-118.547437	Good	Wet-full	
Sbragia #4 (North)	1	2-Tank	39.56897	-118.54941	Good	Wet-full	
Schon/ Bass Pond	5		39.56927	-118.51025		Wet-full	
Short #1	2	2-Tank	39.57126	-118.53347	Good	Dry	
Short #2 (Tule Pond)	2	NB	39.5698	-118.53044		Dry	
Stanley	3	Tank	39.577943	-118.53779	Good	Wet-low	
Stewart #1	6		39.60524	-118.49739		Wet-full	
Stewart #2	6		39.60286	-118.49821		Wet-full	
Stewart #3	6	2-WB	39.60098	-118.49712	Excellent	Wet-full	
Stewart #4	6		39.59813	-118.49663		Wet-full	
Stod Field	2	3-Tank	39.557095	-118.539994	Good	Dry	
Sullivan	4	2-Tank	39.584698	-118.502019	Good	Wet-low	
Swope	4	NB	39.57878	-118.51637		Wet-full	
Tabor	2	2-Tank	39.560746	-118.514853	Bare	Muddy	Green goose field
Tonini #1	6		39.59785	-118.5180		Wet-low	Bench? Tank unusable

2025-2026 CANVASBACK GUN CLUB DRAW REPORT

LEGEND

NB: No blind

WB: Wood blind

OGT: Overgrown with Tules

Water: Wet-low; boats?

Water: Wet-medium; boats should be ok

Water: Wet-full; boats ok

<u>DRAW LIST</u>	<u>UNIT</u>	<u>SIZE & TYPE</u>	<u>LATITUDE</u>	<u>LONGITUDE</u>	<u>COVER/ CONDITION</u>	<u>WATER</u>	<u>COMMENT</u>
Wallis	6	NB	39.605171	-118.515662		Wet-full	
Walther Field	2	2-Tank	39.55697	-118.53323	Poor	Muddy	Green goose field
Ward #1 (South)	3	2-Tank	39.58159	-118.52341	Good	Wet-low	
Ward #2	3	Wood				Wet-low	Unuasable
Ward #3	3	2-Tank	39.58437	-118.52709	Good	Wet-low	
Waters	2	3-Tank	39.59039	-118.52111	Good	Dry	
Wehking	3	2-Tank	39.59056	-118.521393	Bare	Dry	

2025-2026 CANVASBACK GUN CLUB DRAW REPORT

LEGEND

NB: No blind

WB: Wood blind

OGT: Overgrown with Tules

Water: Wet-low; boats?

Water: Wet-medium; boats should be ok

Water: Wet-full; boats ok

<u>LANDINGS/ DRAW ACCESS</u>	<u>UNIT</u>	<u>SIZE & TYPE</u>	<u>LATITUDE</u>	<u>LONGITUDE</u>			
Baker Landing			39.59393	-118.48190			
Baker 2, 3							
Big Freeman Landing			39.57094	-118.52425			
Freeman 6, 7, 9, 12							
Bowen Landing			39.60640	-118.49009			
Bowen							
Campbell Landing			39.56932	-118.51692			
Campbell							
Cardinal Landing NEW - Completed by JD in late August			39.59636	-118.50406			
Cardinal							
Baker 1							
Boney (walk-in only)							
Center Ditch Landing			39.57147	-118.52480			
Gashoe 1, 2							
Mathison 1 (10/11 - 10/15 only)							
Mathison 2, 3							
Ward 1							
Ward 2, 2A, 3 (if Ward Canal is not in service)							

2025-2026 CANVASBACK GUN CLUB DRAW REPORT

LEGEND

NB: No blind

WB: Wood blind

OGT: Overgrown with Tules

Water: Wet-low; boats?

Water: Wet-medium; boats should be ok

Water: Wet-full; boats ok

<u>LANDINGS/ DRAW ACCESS</u>	<u>UNIT</u>	<u>SIZE & TYPE</u>	<u>LATITUDE</u>	<u>LONGITUDE</u>			
Wehking							
Euse							
Tonini							
Little Dutch 1, 2							
Elmore							
Savage							
Dutch Bill Landing			39.57719	-118.53944			
Dutch Bill 17, 15, 14, 5, 5A, 7, 8, 10 (pullovers from 17 to 15 and from 5 to 7-8-10)							
Bunker							
Crew							
Powell							
Holcomb Landing			39.60180	-118.50353			
Holcomb							
Bowden (walk-in only)							
Home Canal Landing 10/11-10/15 only			39.57529	-118.50890			
Big Mallard							
Little Mallard							
Lee Landing			39.56886	-118.51347			
Lee							

2025-2026 CANVASBACK GUN CLUB DRAW REPORT

LEGEND

NB: No blind

WB: Wood blind

OGT: Overgrown with Tules

Water: Wet-low; boats?

Water: Wet-medium; boats should be ok

Water: Wet-full; boats ok

<u>LANDINGS/ DRAW ACCESS</u>	<u>UNIT</u>	<u>SIZE & TYPE</u>	<u>LATITUDE</u>	<u>LONGITUDE</u>			
Mabsen							
Brown							
Little Freman 1, 2							
Kirkley 1, 2, 3							
Campbell – access to east side from Slough							
Johnson Landing							
Milts							
Little Arthur							
Big Arthur							
Johnson							
Sullivan (walk in only)							
Kernan (walk in only)							
Kruger (walk in only)							
Milibar#1 (walk in or pullover)							
Langhans Landing			39.57311	-118.53230			
Langhans 1, 3							
Lund Landing			39.57125	-118.52503			
Lund 1, 2							
Mort							
Flyge							

2025-2026 CANVASBACK GUN CLUB DRAW REPORT

LEGEND

NB: No blind

WB: Wood blind

OGT: Overgrown with Tules

Water: Wet-low; boats?

Water: Wet-medium; boats should be ok

Water: Wet-full; boats ok

Stod							
<u>LANDINGS/ DRAW ACCESS</u>	<u>UNIT</u>	<u>SIZE & TYPE</u>	<u>LATITUDE</u>	<u>LONGITUDE</u>			
Milabar Landing			39.59377	-118.48205			
Milabar 1, 2, 3							
Mustang Landing			39.60647	-118.49045			
Mustang							
Sans Landing			39.50310	-118.50767			
Wallis (walk-in only)							
Cairns (walk-in only)							
Sans 1, 2, 3							
Short Landing			39.57154	-118.52938			
Short 1							
Stewart Landing			39.60585	-118.49839			
Stewart 1, 3, 4							
Ward Landing			39.57164	-118.52531			
Ward 1, 2, 2A, 3							
Langhans 2							

2025-2026 CANVASBACK GUN CLUB DRAW REPORT

LEGEND

NB: No blind

WB: Wood blind

OGT: Overgrown with Tules

Water: Wet-low; boats?

Water: Wet-medium; boats should be ok

Water: Wet-full; boats ok

<u>EASTSIDE</u>							
<u>GATES/ DRAW</u>			<u>LATITUDE</u>	<u>LONGITUDE</u>			
Carrington Field Gate			39.57007	-118.49792			
Unused							
Oliver Gate			39.57645	-118.49178			
Oliver							
Goodnight Gate			39.58465	-118.48544			
Goodnight							
Milabar/ Baker Gate			39.59226	-118.47958			
Milabar 1, 2, 3							
Baker 2, 3							
Baker 3 Gate			39.59962	-118.47919			Gate just north of Division Road
Baker 3							
Stewart Gate			39.60662	-118.48935			
Baker 1							
Boney							
Bowden							
Bowen							
Cairns							
Cardinal							
Holcomb							
Pappy's							
Mustang							
Stewart 1, 2, 3, 4							

2025-2026 CANVASBACK GUN CLUB DRAW REPORT

LEGEND

NB: No blind

WB: Wood blind

OGT: Overgrown with Tules

Water: Wet-low; boats?

Water: Wet-medium; boats should be ok

Water: Wet-full; boats ok

Sans 1, 2, 3							
Wallis							

2025-2026 CANVASBACK GUN CLUB DRAW REPORT

LEGEND

NB: No blind

WB: Wood blind

OGT: Overgrown with Tules

Water: Wet-low; boats?

Water: Wet-medium; boats should be ok

Water: Wet-full; boats ok

<u>FIELDS/PARKING AREAS</u>							